Aniser Jeep Slider (Old)

MANUFACTURING LTD.

Item |Part Number Description Qty
JP-A06-004 Top Bolting Plate 2
2 [(JP-A06-012 Outer Spacer 2
3 [JP-A06-013 Guide UHMW 2
4 |JP-A06-014-0S Inner UHMW (Old Style) 2
5 [JP-A06-015-0S Outer UHMW (Old Style) 2
6 |COM-117 Jeep Rail Guide 2
7 |HOLKP-T-809-BF Holland, Kingpin, 1/2" 1
8 [Ww131 Weld Washer 1.312" 6
9 |PFS CSH8F58-334P [Capscrew, Hex 5/8" UNF x 3 3/4", GD8, Plated 12
10 |PFS FW858ZD \Washer, Flat, 5/8", GD8, Zinc Dipped 24
11 |BBT 446064 Nut, Stover, Hex 1/2" UNF GD8 L9 12

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 44




AnseER

MANUFACTURING LTD.

Jeep Slider (Current)

Item |Part Number Description Qty
1 |JP-A06-004 Top Bolting Plate 2
2 [(JP-A06-012 Outer Spacer 2
3 |JP-A06-013 Guide UHMW 2
4 (JP-A06-014 Inner UHMW 4
5 |JP-A06-015 Outer UHMW 2
6 |COM-117 Jeep Rail Guide 2
7 |JP-A06-017 Jeep Rail Guide Support 2
8 |HOLKP-T-809-BF Holland, Kingpin, 1/2" 1
9 |WW131 Weld Washer 1.312" 8
10 |PFS CSH8F58-334P [Capscrew, Hex 5/8" UNF x 3 3/4", GD8, Plated 12
11 |PFS FW858ZD \Washer, Flat, 5/8", GD8, Zinc Dipped 24
12 |BBT 446064 Nut, Stover, Hex 5/8" UNF GD8 L9 12
13 |PFS CSH8C12-114P |Capscrew, Hex 1/2" UNC x 1 1/4", GD8, Plated
14 |PFS FW812ZD Washer, Flat, 1/2", GD8, Zinc Dipped
15 |PFS RNH8C12P Nut, Regular, Hex 1/2" UNC, GD8

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

45




AnNseER Truck Sliders - 42” and 72

MANUFACTURING LTD.

Item |Part Number Description Qty
1 |COM-A32 Truck Slider Plate (Includes Truck Slider Air Pin) 1
2 |COM-A21 Truck Slider Air Pin 1
3 |PFCSH8C34-3P Capscrew, Hex 3/4" UNC x 3", GD8, Plated 12
4 |PFS FW834zD \Washer, Flat, 3/4" GD8, Zinc Dipped 24
5 |PFS LNN8C34P Nut, Nyloc, Hex 3/4" UNC 12

Item |Part Number Description Qty
1 |COM-A32 Truck Slider Plate (Includes Truck Slider Air Pin) 1
2 |COM-A21 Truck Slider Air Pin 1
3 |PFCSH8C34-3P Capscrew, Hex 3/4" UNC x 3", GD8, Plated 12
4 |PFS FW834ZD \Washer, Flat, 3/4" GD8, Zinc Dipped 24
5 |PFS LNN8C34P Nut, Nyloc, Hex 3/4" UNC 12

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 46




AnNseER Truck Slider Air Pin - COM-A21

MANUFACTURING LTD.

Alternate View of Index Pin

Item |Part Number Description Qty
1 |COM-AQ9 Yoke Truck 1
2 |COM-A16 Index Pin 1
3 [HOL XA2524R Holland Air Cylinder 1
4 |EUC E-1418 Spring, Rat Trap (Retainer Spring) (1 1/8" x4 1/2" x 1/8") 2
5 |[BBT446010 Nut, Stover, Hex 1/2" UNC GD8 L9 1
6 |PFS CSH8C12-114P |Capscrew, Hex 1/2" UNC x 1 1/4", GD8, Plated 1
7 |PFS CSH8C12-112P [Capscrew, Hex 1/2" UNC x 1 1/2", GD8, Plated 1
8 |PFS CSH8C12-5P Capscrew, Hex 1/2" UNC x 5", GD8, Plated 1
9 |PFS CSH8C58-5P Capscrew, Hex 5/8" UNC x 5", GD8, Plated 1
10 |PFS FW812ZD \Washer, Flat, 1/2", GD8, Zinc Dipped 4
11 |PFS FW858ZD \Washer, Flat, 5/8", GD8, Zinc Dipped 2
12 |PFS RNH8C12P Nut, Regular, Hex 1/2" UNC, GD8 2
13 |PFS LNN8C58P Nut, Nyloc, Hex 5/8" UNC, GD8 1
14 |LNC 5000 Grease Fitting 1/8" NPT (Straight) 1
15 |LNC 5400 Grease Fitting 1/8" NPT (90° angle) 2

www.ansermfg.com Quality Trailer Systems Built for the Long Haul 47




AnseER

MANUFACTURING LTD.

®

Alternate View of Yoke Assembly

Alternate View of Air Pot Tab Stop

BC Jeep Air Pin Slider - COM-A15

Item |Part Number Description Qty
1 |COM-A16 Index Pin 1
2 |COM-A17 'Yoke Assembly - Jeep 1
3 |COM-081 Air Pin Plate 1
4 |COM-082 Air Pot Mounting Plate 1
5 |COM-086 Bushing Support 2
6 |COM-088 Air Pot Tab Stop 1
7 |COM-116 Pin Collar 1
8 |PFS CSH8C12-114P |Capscrew, Hex 1/2" UNC x 1 1/4", GD8, Plated 1
9 |PFS CSH8C58-412P |Capscrew, Hex 5/8" UNC x 4 1/2", GD8, Plated 1
10 |PFS FW858zD Washer, Flat, 5/8", GD8, Zinc Dipped 2
11 |PFS RNH8C12P Nut, Regular, Hex 1/2" UNC, GD8 1
12 |PFS RNH8C58P Nut, Regular, Hex 5/8" UNC, GD8 1
13 |LNC 5000 Grease Fitting 1/8" NPT (Straight) 1
14 |LNC 5400 Grease Fitting 1/8" NPT (90° angle) 2

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

48




AnseER

MANUFACTURING LTD.

Alternate View of Air Pot Tab Stop

Quad-Axle Air Pin Slider - RE-A02-S09

Item |Part Number Description Qty
1 |COM-A16 Index Pin 1
2 |COM-A17 'Yoke Assembly 1
3 |RE-A02-014 Air Pot Mounting Plate 1
4 |RE-A02-030 QA Air Pin Base Plate 1
5 |COM-086 Bushing Support 2
6 |COM-088 QA Air Pot Tab Stop 1
7 |COM-116 Pin Collar 1
8 |PFS CSH8C12-114P |[Capscrew, Hex 1/2" UNC x 1 1/4", GD8, Plated 1
9 |PFS CSH8C58-412P |[Capscrew, Hex 5/8" UNC x 4 1/2", GD8, Plated 1
10 |PFS FW858zD \Washer, Flat, 5/8", GD8, Zinc Dipped 2
11 |PFS RNH8C12P Nut, Regular, Hex 1/2" UNC, GD8 1
12 |PFS LNN8C58P Nut, Nyloc, Hex 5/8" UNC, GD8 1
13 |GR30- CMK 9100315 |Chain Link 2
14 |LNC 5000 Grease Fitting 1/8" NPT (Straight) 1
15 |LNC 5400 Grease Fitting 1/8" NPT (90° angle) 2

www.ansermfg.com

Quality Trailer Systems Built for the Long Haul

49




